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JNEAZ K4 fr | | B | Total | HDCP | bk B ih4
B B L E B 43 43 7.2 35.8|Z S b
YA (5] A HOOO& 42 42 6 36|BS A T4 — NS (B QAT B A2 AD) &RV Al ——R—
3 s 7% H 41 41 4.8 36.2[BSKZA /3 —
4 | R & 41 41 4.8 36.2|E 2By
5 | H FE 1) 40 40 3.6 36.4|7v 77+ —3
6 [ H K Fa 40 40 3.6 36.4| 402 &UAL &ETNVAKEF T X
(O 1T e 46 46 9.6 36.4|m—ANE—T7 &U—ANR—I BV N & ERT T T YR
8 |'F B m & 46 46 9.6 36442
9 | AT 46 46 9.6 36.4[v v A wAB VN 25F
10 [ ' T 45 45 8.4 36.6|IKFHXFE WHHGED ALY
11 |d £ ¥) 44 44 7.2 36.8
12 |& A ok 44 44 7.2 36.8
13 |& It % 44 44 7.2 36.8
14 (& W T 43 43 6 37
15 |4 i #® W 43 43 6 3N T RE— T T 7 Z P —F - JY—LUY vh
16 |# 1N & 43 43 6 37
17 |& ' — 43 43 6 37
18 |/ s ik 43 43 6 37
19 (B B o & B 42 42 4.8 37.2
20 (@t H X X F 41 41 3.6 3TA|F B A 158
21 | i W 41 41 3.6 37.4
22 |& 6 iR 47 47 9.6 37.4
23 |&F I X = 47 47 9.6 37.4
24 \@m B g 47 47 9.6 37.4
25 |[F T Eh 47 47 9.6 37.4|2FEb =7
26 |'= J il 47 47 9.6 37.4
27 W W 40 40 2.4 37.6
28 |#k F £} 40 40 2.4 37.6
29 |R I3l g 40 40 2.4 37.6
30 A R M & 46 46 8.4 36| KT 4—H
31 |3 s 7 46 46 8.4 37.6
32 |k HE "R 46 46 8.4 37.6
33 |E H i 46 46 8.4 37.6
K7 1RV X ¥ 45 45 7.2 37.8
B |5 F B H 45 45 7.2 37.8[Ya—RFED A 3RV
36 |fil R [ S 48 48 10.2 37.8
37 | RE ' 2z 44 44 6 38
38 |#= g = 44 44 6 38
39 |88 K B2z 43 43 4.8 38.2
40 ¥\ I o E 43 43 4.8 38.2[/ ==Y =K r—
41 (£ B b B A 43 43 4.8 38.2
42 |E B v 2 43 43 4.8 38.2
43 (4B AT JiSS 42 42 3.6 38.4
44 B M w - 42 42 3.6 38.4
45 |E " F fn 48 48 9.6 38.4| /0% Ry &TFaml—NRyS
46 |k H E 48 48 9.6 38.4
47 |k A bSO S 48 48 9.6 38.4
48 B X = F 48 48 9.6 38.4
49 R =) N 47 47 8.4 38.6
50 [#2 & W % 47 47 8.4 38.6| %1 AT K%
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JIEASE K4 fr | | B | Total | HDCP | H%vhk B ih4
51 |t % o — 47 47 8.4 38.6
52 |AT Ak T  ®m 47 47 8.4 38.6
53 |1 ] i 47 47 8.4 38.6
54 |k mo oz 47 47 8.4 38.6
55 |l A& SE I 40 40 1.2 38.8|JB v a—AHr—2
56 [l K = 46 46 7.2 38.8
57 | 2 /N 46 46 7.2 38.8
58 [N K B 46 46 7.2 38.8
59 |k B w 46 46 7.2 38.8
60 |1l H (6= 46 46 7.2 38.8|m—AFF m— A —T
61 |k JH W B 49 49 10.2 38.8
62 |8 K = T 49 49 10.2 38.8
63 | ]| 49 49 10.2 38.8
64 | H (= 49 49 10.2 38.8
65 |ih 7 it 49 49 10.2 3B8[BHLL AL SR
66 |88 K % Z 49 49 10.2 38.8
67 | K HoO% 49 49 10.2 38.8
68 | A K 49 49 10.2 38.8
69 |k K #w A 45 45 6 39
70 |H i B 45 45 6 RI*] PASl Ry 2 O S VA4
1 K [ER 45 45 6 39
2 N IS 45 45 6 39
73 @i H i = 44 44 4.8 39.2
(N = - 1| % 43 43 3.6 39.4
% |7 E R - 43 43 3.6 39.4|EifEE vk
76 |& It (i 43 43 3.6 39.4
718 K E W 49 49 9.6 39.4
78 |F K B 49 49 9.6 39.4
79 [E B W F 49 49 9.6 39.4
80 |® iR S 49 49 9.6 39.4|ARX—t"— H—FRyS
81 |®m & W= 49 49 9.6 39.4
82 |k IE e — 42 42 2.4 39.6
83 | oo 48 48 8.4 39.6
84 |l W moA 48 48 8.4 39.6
85 |m 1B FE H 48 48 8.4 39.6|4% o<1
86 |H & 7’ 9 48 48 8.4 39.6
87 |4 H B F 41 41 1.2 39.8
88 Il X E A 47 47 7.2 39.8
89 |R ES EER 47 47 7.2 39.8
2 B B W — 47 47 7.2 39.8|% - KN £ b
91 |t B = H T 47 47 7.2 39.8
92 |BK ¥ B 50 50 10.2 39.8
93 | & K i — 50 50 10.2 39.8
9 |&m B F  Ht 50 50 10.2 39.8
95 |3 i3 L1 50 50 10.2 39.8[Fr LU 15
9% | M E ] 50 50 10.2 39.8
97 |2 A 5 50 50 10.2 39.8
98 |k ) g2 % 50 50 10.2 39.8
99 |BE R /53 50 50 10.2 39.8
100 [ 2 COR= 50 50 10.2 39.8| ATy T A Y AR NH —
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101 | fE =k 50 50 10.2 39.8

102 |1 2 W= 46 46 6 40

103 [ = 46 46 6 40

104 | R Bk 45 45 4.8 40.2

105 |+ = it 50 50 9.6 40.4|22EHY) & OV 5kg & A ADF 7 BSIR— /b
106 |47 i ¥ T 50 50 9.6 40.4

107 |8 FF moZ 50 50 9.6 40.4

108 |H  FF SN 50 50 9.6 40.4

109 |8 W ¥ 50 50 9.6 40.4

110 [##% J 7 51 51 10.2 40.8|L MV R =T —F ]
111 |8 A 51 51 10.2 40.8

1z | 7 ) 51 51 10.2 40.8

113 |Fn H 7= 51 51 10.2 40.8

14 |& 1N I 51 51 10.2 40.8

115 |~ H L ¥ & 51 51 10.2 40.8|U A 28 EYE
e | R Jig & 51 51 10.2 40.8

17 (& R LS 51 51 10.2 40.8

118 [#E  JR B — 51 51 10.2 40.8

119 |t Il w & 51 51 10.2 40.8

120 |/8 & B 51 51 10.2 40.8| AT —XBEA DO —AN —7
121 | B = 51 51 10.2 40.8

22 |HF k E 45 45 3.6 41.4

123 | B ook 51 51 9.6 41.4

124 % K K 51 51 9.6 41.4

125 |1 K o OE 44 44 2.4 41.6|3 VT

126 |'& — = 50 50 8.4 41.6

127 |4 H A 49 49 7.2 41.8

128 | K B ok 52 52 10.2 41.8

129 & Bk #» & 52 52 10.2 41.8

130 | S 52 52 10.2 41.8|ViEfEREE Y N

131 |= % B = 52 52 10.2 41.8

132 |k ¥ = 52 52 10.2 41.8

133 |k & — 52 52 10.2 41.8

134 |k B = 52 52 10.2 41.8

135 [ J&l F 52 52 10.2 41.8|FT W —rF—X b oY Eoh
136 [t& Ak ERE S 52 52 10.2 41.8

137 (M R WK 52 52 10.2 41.8

138 @ 15 — R 48 48 6 42

139 |k 2y 1% 46 46 3.6 42.4

140 |f#% H I 52 52 9.6 42 4| AL T

141 |l N it 52 52 9.6 42.4

142 |74 H A 45 45 2.4 42.6

143 |E = B % 50 50 7.2 42.8

144 & M £ 53 53 10.2 42.8

145 i A Tt El 53 53 10.2 42,8325

146 (% e 5E 53 53 10.2 42.8

147 |3 R Gl 53 53 10.2 42.8

148 |4 Er [ 53 53 10.2 42.8

49 |+ % - % 53 53 10.2 42.8

150 |7 M ' & 53 53 10.2 42.8|V77 v T—~R
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151 |AR Hh 5 53 53 10.2 42.8

152 [k W5 =S 48 48 4.8 43.2

153 | K B R F 53 53 9.6 43.4

154 [/ B W E 53 53 9.6 43.4

155 |k 7N - 52 52 8.4 43.6| AR L D R v

156 [k K EE A 51 51 7.2 43.8

157 |§ 52 2 54 54 10.2 43.8

158 | il 1% 54 54 10.2 43.8

159 |2 A e = 54 54 10.2 43.8

160 | H E ' 54 54 10.2 43 8| IR AT —F By &R Val —X—R—
61 |°%F g AT 54 54 10.2 43.8

162 |8 K H AT 54 54 10.2 43.8

163 | F & 54 54 10.2 43.8

164 (i 4 i pES 54 54 10.2 43.8

165 [ i PN 54 54 10.2 43.8|FiHEaT e Y6ke - VA ADF ¥y - BSR—/L
166 |m A = — 54 54 10.2 43.8

167 |74 H ;o F 54 54 10.2 43.8

168 |&F W /S 54 54 10.2 43.8

169 |1 UK E K 54 54 10.2 43.8

170 | ¥ S IN 54 54 10.2 38| N—F Y &NBI T A AR
171 (46 #F Bt 54 54 10.2 43.8

172 % & T3 54 54 9.6 44.4

73 g E 54 54 9.6 44.4

174 | @ M w K 55 55 10.2 44.8

175 |# ] /SO 5 55 55 10.2 44.8|Amy 2FE

176 [/ Hu EES 1) 55 55 10.2 44.8

177 |& M i S — 55 55 10.2 44.8

178 & X 55 55 10.2 44.8

179 [BX % = | £ 55 55 10.2 44.8

180 |% m] fif GIN 55 55 10.2 44.8| KRIINET TA &IFTZTT T4k
181 |# A T 55 55 10.2 44.8

182 |7 A& wo ok 55 55 10.2 44.8

183 &8 K B F 55 55 10.2 44.8

184 |# JiE g = 56 56 10.2 45.8

185 [ft ik wx  F 56 56 10.2 45.8|m—APE—T & N—aL & F— A vb
186 [ 4% g 2 56 56 10.2 45.8

187 [ # & = & 57 57 10.2 46.8

188 [ A& W R 57 57 10.2 46.8

189 |#n 15 3 57 57 10.2 46.8

190 [ 2 5 % 57 57 10.2 46.8|® L REE X

191 |%& [ ES 57 57 10.2 46.8

192 (s JR = B 57 57 10.2 46.8

193 |&  H = 57 57 10.2 46.8

194 ¥ JiE E 58 58 10.2 47.8

195 I 7K W — 58 58 10.2 47.8| AL —LF TRk

196 |[d BB W E 58 58 10.2 47.8

197 &8 K I A— 58 58 10.2 47.8

198 |& H H & 58 58 10.2 47.8

199 | % W 59 59 10.2 48.8

200 (&2 B W &= 7 59 59 10.2 48.8|T—fal 77 A/ U JETIERT b
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201 [#8 (L W — 59 59 10.2 48.8

202 |® W filk 59 59 10.2 48.8

203 [k jE (< S— 59 59 10.2 48.8

204 |& T 8 K 59 59 10.2 48.8

205 [ e /SN 60 60 10.2 49.8| e 2 i b

206 |68 f& H K 60 60 10.2 49.8

207 [ A SEES 60 60 10.2 49.8

208 [ BB Vi 2 61 61 10.2 50.8

20 | W 7 W 61 61 10.2 50.8

210 (&£ b 5L K BB 61 61 10.2 50.8]Y—t—Y &F—XE vk
211 | o 61 61 10.2 50.8

212 | = A 62 62 10.2 51.8

213 [ A 5 X 62 62 10.2 51.8

214 |1L H il 63 63 10.2 52.8

215 |# JHR E 63 63 10.2 52.8| D= =T F =X F Yok
216 [&@ I ) 64 64 10.2 53.8

217 [ woE 64 64 10.2 53.8

218 |2 + ik 65 65 10.2 54.8

219 |M H =) 66 66 10.2 55.8

220 [ F g o 66 66 10.2 55.8[572F 2 AR

221 [&8 K E ) 68 68 10.2 57.8

222 [ I M 69 69 10.2 58.8

223 |i& M B 69 69 10.2 58.8

224 ¥ [ Ld 69 69 10.2 58.8

225 [/ B X W W 69 69 10.2 58.8| 7 HEA—/ S —RFAXT vk
226 | K = & 70 70 10.2 59.8

227 |H th R 71 71 10.2 60.8

228 |4 2y 1E & 72 72 10.2 61.8

BB | S| 72 72 10.2 61.8[ZAFYRN h—FRp
BM [t & T+ = 85 85 10.2 74.8|=F 5 4" Faar—ryh
BG |l & S 7 40 40 1.2 38.8|RYI V2R —R— 15—
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JIEASE K4 W | | B | Total | HDCP | *vh B4
Wl [§f H % X T 41 41 6 35|37

w2 [ K [ 45 45 9.6 354 AX—E"— L a—XHr—2
W3 |4k F EER 40 40 3.6 36.4| 74 H—F Y

SINE a—ANFXr  ENDTF—REOH O F—Fvh




